Teaching the contrast between the arc of a spiral and the arc of a circle:
1) Ask students to create a red shape with left border as the arc of a spiral (add 1 to each degree swept), then press “Add Group” and create a blue shape with left border as the arc of a circle. Both have origin 0,0; radius 100, starting angle 0, ending angle 50. The radius of the blue circle arc matches the starting radius of the red spiral arc.
2) Now ask students to change the radius of the blue circle arc so that it matches the ending radius of the red spiral arc (see below).

3) Result should be circle radius = 150. Make sure they understand that the start radius and end radius of the circle are the same.
4) Now ask them why the red arc starts at 100 but ends at 150: see if they can come up with an explanation on their own.
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